
PROFESSIONAL EXAMINATION BOARD
Combined Group­4 Recruitment Test : 2016

19th December 2016, 03:00 PM
Topic:­ General Knowledge
1)

Question ID :­ (Question ID = 51667 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q8

Question Stimulus :­

Who among the following became the first Chief Minister of Madhya Pradesh on 1st
November, 1956? / 1 नव鈎र 1956 को िन󤀎 म਀ से िकसने म韀� ᘀदेश के ᘀथम मु埅�मं埀�ी का पद ៑�हण
िकया?

(Option ID = 146530 )

Bhagwantrao Mandloi / भगवंतराव मंडलोई

(Option ID = 146531 )

Ravishankar Shukla / रिवशंकर शु韀�

(Option ID = 146532 )

Kailash Nath Katju / कैलाश नाथ काटजू

(Option ID = 146533 )

Dwarka Prasad Mishra / ៀ�ारका ᘀसाद िमៀ�

Option ID :­0Correct Answer :­(Option ID = 146531 ) Ravishankar Shukla / रिवशंकर शु韀� 

2)

Question ID :­ (Question ID = 51669 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q10

Question Stimulus :­

Which of the following districts does the Gird region of MP include? / िन󤀎िल甁�खत म਀ से कौनसा
िजला म韀� ᘀदेश के िगद਀ 埀े�埀� म਀ आता है?

(Option ID = 146538 )

Bhind / िभंड

(Option ID = 146539 )

Gwalior / ៀ�ािलयर

(Option ID = 146540 )

Shivpuri / िशवपुरी
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(Option ID = 146541 )

All of these / उपयु਀ఀ सभी

Option ID :­0Correct Answer :­(Option ID = 146541 ) All of these / उपयु਀ఀ सभी 

3)

Question ID :­ (Question ID = 51664 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q5

Question Stimulus :­

Tawa, Denwa, Shakkar are the tributaries of which of the following river?/तवा, देनवा, श⌀र
िन󤀎 म਀ से िकस नदी की सहायक निदयाँ ह਀?

(Option ID = 146518 )

Narmada / नम਀दा

(Option ID = 146519 )

Chambal / च鈎ल

(Option ID = 146520 )

Shipra / ि埀�ᘀा

(Option ID = 146521 )

Tapti / ता𳀃ी

Option ID :­0Correct Answer :­(Option ID = 146518 ) Narmada / नम਀दा 

4)

Question ID :­ (Question ID = 51666 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q7

Question Stimulus :­

In which city of Madhya Pradesh is the Government Opium and Alkaloid Factory located? /
म韀� ᘀदेश के िकस शहर म਀ सरकारी अफीम और उप埀�ार कारखाना 甁�ែ�थत है?

(Option ID = 146526 )

Mandsaur / मंदसौर

(Option ID = 146527 )

Neemuch / नीमच

(Option ID = 146528 )

Dhar / धार
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(Option ID = 146529 )

Orchha / ओरछा

Option ID :­0Correct Answer :­(Option ID = 146527 ) Neemuch / नीमच 

5)

Question ID :­ (Question ID = 51668 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q9

Question Stimulus :­

Which of the following forest is Rudyard Kipling’s famous book ‘Jungle Book’ based on? /
៍�डयाड਀ िकपिलंग की िव埅�ात पुĀक ‘जंगल बुक’ िन󤀎 म਀ से िकस जंगल पर आधा눛�रत है?

(Option ID = 146534 )

Bandhavgarh / बांधवगढ़

(Option ID = 146535 )

Pench / प਀च

(Option ID = 146536 )

Kanha / का𰀃ा

(Option ID = 146537 )

Panna / प塈�ा

Option ID :­0Correct Answer :­(Option ID = 146535 ) Pench / प਀च 

6)

Question ID :­ (Question ID = 51671 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q12

Question Stimulus :­

Where was the 13th EU­India Summit 2016 held? / 13­वे ई.यु.­भारत िशखर स៌�लेन 2016 का
आयोजन कहाँ पर िकया गया?

(Option ID = 146546 )

Belgium / बे甁�ퟛ�यम

(Option ID = 146547 )

Germany / जम਀नी

(Option ID = 146548 )

France / ៀ�ांस
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(Option ID = 146549 )

Netherlands / नेदरल਀ड्स

Option ID :­0Correct Answer :­(Option ID = 146546 ) Belgium / बे甁�ퟛ�यम 

7)

Question ID :­ (Question ID = 51675 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q16

Question Stimulus :­

Which of the following is the first district to pay cashless transaction of wages in India? /
िन󤀎 म਀ से कौनसा िजला भारत म਀ सव਀ᘀथम मजदूरी का भुगतान नगद­रिहत लेनदेन ៀ�ारा करने वाला िजला है?

(Option ID = 146562 )

Hailakandi / हाईलाकांदी

(Option ID = 146563 )

Dhubri / धुबरी

(Option ID = 146564 )

Dhemaji / धेमाजी

(Option ID = 146565 )

Lakhimpur / लखीमपुर

Option ID :­0Correct Answer :­(Option ID = 146562 ) Hailakandi / हाईलाकांदी 

8)

Question ID :­ (Question ID = 51665 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q6

Question Stimulus :­

What is the present prize money given in Vikram Awards by the Madhya Pradesh
Government? / म韀� ᘀदेश सरकार ៀ�ारा िदए जाने वाले िव័�म पुरĀार की वत਀मान पुरĀार रािश िकतनी
है?

(Option ID = 146522 )

`50,000

(Option ID = 146523 )

`75,000

(Option ID = 146524 )

`1,00,000
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(Option ID = 146525 )

`1,50,000

Option ID :­0Correct Answer :­(Option ID = 146524 ) `1,00,000 

9)

Question ID :­ (Question ID = 51672 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q13

Question Stimulus :­

In which state was the evidence of the lost Chandrabhaga river recently discovered? / िन󤀎 म਀
से िकस रा⨀ म਀ िवलु𳀃 ៏�ई चंៀ�भाग नदी का ᘀमाण हाल ही म਀ खोज िनकाला गया?

(Option ID = 146550 )

Assam / असम

(Option ID = 146551 )

Odisha /उड़ीसा

(Option ID = 146552 )

Bihar / िबहार

(Option ID = 146553 )

Karnataka / कना਀टक

Option ID :­0Correct Answer :­(Option ID = 146551 ) Odisha /उड़ीसा 

10)

Question ID :­ (Question ID = 51674 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q15

Question Stimulus :­

India’s GSAT­18 satellite is a­ / भारत का जीसैट­18 उप៑�ह है, एक­

(Option ID = 146558 )

Military satellite / सै舂 उप៑�ह

(Option ID = 146559 )

Communication satellite / संचार उप៑�ह

(Option ID = 146560 )

Weather forecast satellite / मौसम पूवा਀नुमान उप៑�ह

(Option ID = 146561 )

None of these / इनम਀ से कोई नही ं
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None of these / इनम਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 146559 ) Communication satellite / संचार उप៑�ह 

11)

Question ID :­ (Question ID = 51662 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q3

Question Stimulus :­

Which of the following districts of Madhya Pradesh is known as the Centre Point of India? /
िन󤀎िल甁�खत म਀ से म韀� ᘀदेश के िकस िजले को भारत का स਀टर पॉइंट के नाम से जाना जाता है?

(Option ID = 146510 )

Gwalior / ៀ�ािलयर

(Option ID = 146511 )

Vidisha / िविदशा

(Option ID = 146512 )

Sagar / सागर

(Option ID = 146513 )

Bhopal / भोपाल

Option ID :­0Correct Answer :­(Option ID = 146511 ) Vidisha / िविदशा 

12)

Question ID :­ (Question ID = 51661 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q2

Question Stimulus :­

In which place of Madhya Pradesh did Mumtaz Mahal die? / म韀� ᘀदेश के िकस 埀े�埀� म਀ मुमताज़
महल का देहांत ៏�आ?

(Option ID = 146506 )

Burhanpur / बुरहानपुर

(Option ID = 146507 )

Khandwa / खंडवा

(Option ID = 146508 )

Khargone / खरगोन

(Option ID = 146509 )
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Dhar / धार

Option ID :­0Correct Answer :­(Option ID = 146506 ) Burhanpur / बुरहानपुर 

13)

Question ID :­ (Question ID = 51660 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q1

Question Stimulus :­

How many National Highways pass through Madhya Pradesh? / िकतने राĀែ� ीय राजमाग਀ म韀�
ᘀदेश से गुज़रते ह਀?

(Option ID = 146502 )

17

(Option ID = 146503 )

18

(Option ID = 146504 )

19

(Option ID = 146505 )

20

Option ID :­0Correct Answer :­(Option ID = 146505 ) 20 

14)

Question ID :­ (Question ID = 51676 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q17

Question Stimulus :­

When is the Indian Navy Day celebrated? / भारतीय नौसेना िदवस कब मनाया जाता है?

(Option ID = 146566 )

December 2 / िदस鈎र 2

(Option ID = 146567 )

December 3 / िदस鈎र 3

(Option ID = 146568 )

December 4 / िदस鈎र 4

(Option ID = 146569 )

December 5 / िदस鈎र 5
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Option ID :­0Correct Answer :­(Option ID = 146568 ) December 4 / िदस鈎र 4 

15)

Question ID :­ (Question ID = 51670 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q11

Question Stimulus :­

Which of the following countries was hit by the Typhoon Chaba recently? / श甁�ఀशाली च័�वात
चाबा हाल ही म਀ िन󤀎 म਀ से िकस देश म਀ आया था?

(Option ID = 146542 )

Mexico / मे甁�ៀ�को

(Option ID = 146543 )

Chile / िचली

(Option ID = 146544 )

Japan / जापान

(Option ID = 146545 )

Indonesia / इंडोनेिशया

Option ID :­0Correct Answer :­(Option ID = 146544 ) Japan / जापान 

16)

Question ID :­ (Question ID = 51673 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q14

Question Stimulus :­

John Key is the present Prime Minister of ­ / जॉन की वत਀मान म਀ िन󤀎 म਀ से िकस देश के ᘀधानमं埀�ी ह਀?

(Option ID = 146554 )

England /इंⴀ਀ड

(Option ID = 146555 )

New Zealand / 舂ूज़ीलै韇�

(Option ID = 146556 )

Australia / ऑេ�ែ�ेिलया

(Option ID = 146557 )

Sweden / 渷ीडन

Option ID :­0Correct Answer :­(Option ID = 146555 ) New Zealand / 舂ूज़ीलै韇� 
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Option ID :­0Correct Answer :­(Option ID = 146555 ) New Zealand / 舂ूज़ीलै韇� 

17)

Question ID :­ (Question ID = 51663 )

Question Description :­ HP12_GENERAL KNOWLEDGE_SET3Q4

Question Stimulus :­

How many seats are there in the Madhya Pradesh Legislature at present? / वत਀मान म਀ म韀�
ᘀदेश िवधान सभा म਀ िकतनी सीट਀ ह਀?

(Option ID = 146514 )

220

(Option ID = 146515 )

225

(Option ID = 146516 )

230

(Option ID = 146517 )

235

Option ID :­0Correct Answer :­(Option ID = 146516 ) 230 

Topic:­ General English
1)

Question ID :­ (Question ID = 51512 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q6

Question Stimulus :­

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

A car collided with a ______vehicle.

He bought pen, paper and erasers from the ______.

(Option ID = 145910 )

stationary, stationery

(Option ID = 145911 )

stationery, stationary

(Option ID = 145912 )

stationary, stationary

(Option ID = 145913 )
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stationery, stationery

Option ID :­0Correct Answer :­(Option ID = 145910 ) stationary, stationery 

2)

Question ID :­ (Question ID = 51519 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q13

Question Stimulus :­

Fill in the blank with the correct set of prepositions.

They were divided ____two groups, with no girls ____one group and no boys ____the other.

(Option ID = 145938 )

in, of, of

(Option ID = 145939 )

into, in, in

(Option ID = 145940 )

for, in in

(Option ID = 145941 )

by, in, in

Option ID :­0Correct Answer :­(Option ID = 145939 ) into, in, in 

3)

Question ID :­ (Question ID = 51520 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q14

Question Stimulus :­

Choose a word that can be replaced for the given sentence.

A number of people listening to a lecture

(Option ID = 145942 )

Audience

(Option ID = 145943 )

Spectators

(Option ID = 145944 )

Crowd

(Option ID = 145945 )

Orator
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Option ID :­0Correct Answer :­(Option ID = 145942 ) Audience 

4)

Question ID :­ (Question ID = 51513 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q7

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Who gave you these orders?

(Option ID = 145914 )

By whom were you given these orders?

(Option ID = 145915 )

These orders were given by whom?

(Option ID = 145916 )

Who has given you these orders?

(Option ID = 145917 )

By whom has these orders been given to you?

Option ID :­0Correct Answer :­(Option ID = 145914 ) By whom were you given these orders? 

5)

Question ID :­ (Question ID = 51509 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q3

Question Stimulus :­

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

He was a feeble, helpless old man.

(Option ID = 145898 )

weak

(Option ID = 145899 )

sick

(Option ID = 145900 )

slim

(Option ID = 145901 )

strong
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Option ID :­0Correct Answer :­(Option ID = 145901 ) strong 

6)

Question ID :­ (Question ID = 51516 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q10

Question Stimulus :­

Out of the four sentences given below, choose the one which is grammatically incorrect.

(Option ID = 145926 )

This question is too difficult to solve.

(Option ID = 145927 )

She is so fat that she cannot run.

(Option ID = 145928 )

Ben knows much more about movies than I do.

(Option ID = 145929 )

The apple pie was as good like the one my grandmother used to make.

Option ID :­0Correct Answer :­(Option ID = 145929 ) The apple pie was as good like the one my
grandmother used to make. 

7)

Question ID :­ (Question ID = 51515 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q9

Question Stimulus :­

Fill in the blank with the correct word from the options given below.

The chief guest gave us his valuable ______.

(Option ID = 145922 )

advises

(Option ID = 145923 )

advices

(Option ID = 145924 )

advice

(Option ID = 145925 )

advise

Option ID :­0Correct Answer :­(Option ID = 145924 ) advice 
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8)

Question ID :­ (Question ID = 51507 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q1

Question Stimulus :­

Out of the given options which best expresses the meaning of the given proverb?

"Birds of a feather flock together."

(Option ID = 145890 )

Some people like to collect birds with colourful feathers

(Option ID = 145891 )

Birds that have colourful feathers are the most beautiful ones

(Option ID = 145892 )

Beautiful birds are found in groups

(Option ID = 145893 )

People like to spend time with others who are similar to them.

Option ID :­0Correct Answer :­(Option ID = 145893 ) People like to spend time with others who are
similar to them. 

9)

Question ID :­ (Question ID = 51517 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q11

Question Stimulus :­

Out of the four options given below, choose the one with the correct meaning of the idiom.

“You can't judge a book by its cover”

(Option ID = 145930 )

You cannot judge something primarily on the basis of outward appearance.

(Option ID = 145931 )

You cannot make all the covers of the books extremely attractive

(Option ID = 145932 )

You should judge everything on the basis of outward appearance

(Option ID = 145933 )

You should buy books with unattractive or simple covers.

Option ID :­0Correct Answer :­(Option ID = 145930 ) You cannot judge something primarily on the basis
of outward appearance. 
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10)

Question ID :­ (Question ID = 51508 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q2

Question Stimulus :­

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

Modern computers can hold huge amounts of information.

(Option ID = 145894 )

large

(Option ID = 145895 )

slight

(Option ID = 145896 )

important

(Option ID = 145897 )

extra

Option ID :­0Correct Answer :­(Option ID = 145894 ) large 

11)

Question ID :­ (Question ID = 51518 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q12

Question Stimulus :­

Two sentences are given below. Choose the correct conjunction to join the given sentences.

You eat a huge plate of food for lunch.

I have just a sandwich.

(Option ID = 145934 )

whereas

(Option ID = 145935 )

despite

(Option ID = 145936 )

in spite of

(Option ID = 145937 )

as well as

https://applink.adda247.com/d/XhqWf9lSap
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Option ID :­0Correct Answer :­(Option ID = 145934 ) whereas 

12)

Question ID :­ (Question ID = 51514 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q8

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

David said to his servant, “Do this work.”

(Option ID = 145918 )

David ordered his servant to do that work.

(Option ID = 145919 )

David requested his servant to do this work.

(Option ID = 145920 )

David requested his servant to do that work.

(Option ID = 145921 )

David allowed his servant to do this work.

Option ID :­0Correct Answer :­(Option ID = 145918 ) David ordered his servant to do that work. 

13)

Question ID :­ (Question ID = 51522 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q16

Question Stimulus :­

Once a famine broke out in a country. Everyday the children of a city of that country flocked at a rich man's
house to get loaves of bread. As soon as the servants brought out loaves, they fought among themselves and
struggled hard to get them. One little girl did not fight. She waited patiently for her turn and got the smallest
loaf last of all. One day as usual, she brought the smallest loaf. When she cut it, she found two rupees in it. She
went back at once to return the money. The rich man was pleased at her honesty. He gave her not only those
two rupees, but two rupees more as a reward.

What do you think would be the moral of the given extract?

(Option ID = 145950 )

All good things come to an end

(Option ID = 145951 )

Health is wealth

(Option ID = 145952 )

Greed is a curse
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(Option ID = 145953 )

Patience brings its own reward.

Option ID :­0Correct Answer :­(Option ID = 145953 ) Patience brings its own reward. 

14)

Question ID :­ (Question ID = 51521 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q15

Question Stimulus :­

Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.

We apologize for the _______( convenience) caused by the late arrival of the train.

(Option ID = 145946 )

in

(Option ID = 145947 )

sub

(Option ID = 145948 )

im

(Option ID = 145949 )

un

Option ID :­0Correct Answer :­(Option ID = 145946 ) in 

15)

Question ID :­ (Question ID = 51511 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q5

Question Stimulus :­

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The police looked into the case.

(Option ID = 145906 )

Investigated

(Option ID = 145907 )

Entered

(Option ID = 145908 )

Described
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(Option ID = 145909 )

Reported

Option ID :­0Correct Answer :­(Option ID = 145906 ) Investigated 

16)

Question ID :­ (Question ID = 51523 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q17

Question Stimulus :­

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Central banks attempt to limit inflation, and avoid deflation

Q. and,consequently, the purchasing power of currency is falling.

R. Inflation is the rate at which the general level of prices for goods and services is rising

S. in order to keep the economy running smoothly.

(Option ID = 145954 )

RQPS

(Option ID = 145955 )

QPRS

(Option ID = 145956 )

PQRS

(Option ID = 145957 )

SPRQ

Option ID :­0Correct Answer :­(Option ID = 145954 ) RQPS 

17)

Question ID :­ (Question ID = 51510 )

Question Description :­ HP12_GENERAL ENGLISH_SET4Q4

Question Stimulus :­

Out of the given four words one is spelt incorrectly.Find the word that is incorrectly spelt

(Option ID = 145902 )

criteria

(Option ID = 145903 )

absollute

(Option ID = 145904 )

https://applink.adda247.com/d/XhqWf9lSap
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abundant

(Option ID = 145905 )

scarcity

Option ID :­0Correct Answer :­(Option ID = 145903 ) absollute 

Topic:­ General Hindi
1)

Question ID :­ (Question ID = 51552 )

Question Description :­ HP12_GENERAL HINDI_SET1Q12

Question Stimulus :­

शु埀� वा埈� का चयन कीिजए­

(Option ID = 146070 )

उसने पांच पूड़ी खाई

(Option ID = 146071 )

उसका ᘀाण पखे韍� उड़ गये

(Option ID = 146072 )

मेले म਀ अनेक लोग थे

(Option ID = 146073 )

हमारी ᘀदेश की सरकार ब਀क खोल रही है

Option ID :­0Correct Answer :­(Option ID = 146072 ) मेले म਀ अनेक लोग थे 

2)

Question ID :­ (Question ID = 51555 )

Question Description :­ HP12_GENERAL HINDI_SET1Q15

Question Stimulus :­

दशरथ ने कैकेयी को दो वरदान िदए थे । अब मौका पाकर कैकेयी ने वे दोनो ंवचन पूरे करने के िलए दशरथ से
कहा । रघुकुल  ितलक दथरथ  इंकार नही ंकर सकते  थे ।  पूरे करने पड़े । रघुवंश की यही मया਀दा थी । इस
ᘀकार हम सबका आदश਀ हो गया िक ᘀाण भले ही चले जाएँ पर वचन अ舂था नही ंहो । राजा ह눛�रĀंៀ� ने वचन
िदया, पु埀� और Ѐी देकर भी उसे पूरा िकया ।

उपरोఀ ग埀�ांश का सं埀े�पण कीिजए­

(Option ID = 146082 )

सठ सुधरिह स韀ं�गित पाई

(Option ID = 146083 )

रघुकुल रीित सदा चली आई ᘀाण जायँ पर वचन न जाई
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रघुकुल रीित सदा चली आई ᘀाण जायँ पर वचन न जाई

(Option ID = 146084 )

रघुकुल रीित सदा चली आई ᘀाण न जायँ पर वचन चली जाई

(Option ID = 146085 )

उपरोఀ म਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 146083 ) रघुकुल रीित सदा चली आई ᘀाण जायँ पर वचन न
जाई 

3)

Question ID :­ (Question ID = 51554 )

Question Description :­ HP12_GENERAL HINDI_SET1Q14

Question Stimulus :­

‘करकमल’ म਀ समास है­

(Option ID = 146078 )

तៀु�៍�ष

(Option ID = 146079 )

कम਀धारय

(Option ID = 146080 )

ៀं�ៀ�

(Option ID = 146081 )

िៀ�गु

Option ID :­0Correct Answer :­(Option ID = 146079 ) कम਀धारय 

4)

Question ID :­ (Question ID = 51553 )

Question Description :­ HP12_GENERAL HINDI_SET1Q13

Question Stimulus :­

‘स塜�ित’ का संिध िवៀे�द है –

(Option ID = 146074 )

सन+मित

(Option ID = 146075 )

सत्+मित
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(Option ID = 146076 )

सन्+मित

(Option ID = 146077 )

सत+मित

Option ID :­0Correct Answer :­(Option ID = 146075 ) सत्+मित 

5)

Question ID :­ (Question ID = 51541 )

Question Description :­ HP12_GENERAL HINDI_SET1Q1

Question Stimulus :­

िन󤀎 म਀ कौन सा कथन सៀ� है ?

(Option ID = 146026 )

अलंकार का अथ਀ है­ आभूषण या ៀंृ�गार

(Option ID = 146027 )

सौदंय਀­वध਀क गुण अलंकार कहलाते ह਀

(Option ID = 146028 )

अलंकारो ंके योग से काĀ मनोहारी बन जाता है

(Option ID = 146029 )

उपरोఀ सभी

Option ID :­0Correct Answer :­(Option ID = 146029 ) उपरोఀ सभी 

6)

Question ID :­ (Question ID = 51543 )

Question Description :­ HP12_GENERAL HINDI_SET1Q3

Question Stimulus :­

िन󤀎 िल甁�खत 6 वा埈�ो ंम਀ ᘀथम व अंितम िनिĀत ह਀‚ शेष को उिचत ័�म म਀ Āव甁�ែ�थत कीिजए­

01 मानव जीवन म਀ उៀ�रदािय✀ का

य­ जीवन म਀ सफलता ᘀा𳀃 करने के िलए

र­ िवशेष ែ�थान है। अवगुणो ंको दूर करने के िलए एवं

ल­ उៀ�रदािय✀ आ जाने पर मनुĀ

व­ उៀ�रदािय✀ का ៀ�ान होना अित आव؀क है।

06­ बु甁�埀�मान हो जाता है।
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06­ बु甁�埀�मान हो जाता है।

(Option ID = 146034 )

य र ल व

(Option ID = 146035 )

र य व ल

(Option ID = 146036 )

र व ल य

(Option ID = 146037 )

र ल व य

Option ID :­0Correct Answer :­(Option ID = 146035 ) र य व ल 

7)

Question ID :­ (Question ID = 51550 )

Question Description :­ HP12_GENERAL HINDI_SET1Q10

Question Stimulus :­

“वह अपराधी था, इसिलए उसे सजा िमली” वा埈� है­

(Option ID = 146062 )

िमៀ� वा埈�

(Option ID = 146063 )

संयुఀ वा埈�

(Option ID = 146064 )

सरल वा埈�

(Option ID = 146065 )

उपरोఀ म਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 146063 ) संयुఀ वा埈� 

8)

Question ID :­ (Question ID = 51545 )

Question Description :­ HP12_GENERAL HINDI_SET1Q5

Question Stimulus :­

त韀�म शៀ� का चयन कीिजए­

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


(Option ID = 146042 )

कुआँ

(Option ID = 146043 )

प埀�

(Option ID = 146044 )

घी

(Option ID = 146045 )

गाँव

Option ID :­0Correct Answer :­(Option ID = 146043 ) प埀� 

9)

Question ID :­ (Question ID = 51547 )

Question Description :­ HP12_GENERAL HINDI_SET1Q7

Question Stimulus :­

'लघुता' म਀ ᘀៀ�य पहचािनए­

(Option ID = 146050 )

आ

(Option ID = 146051 )

ता

(Option ID = 146052 )

लघु

(Option ID = 146053 )

त

Option ID :­0Correct Answer :­(Option ID = 146051 ) ता 

10)

Question ID :­ (Question ID = 51548 )

Question Description :­ HP12_GENERAL HINDI_SET1Q8

Question Stimulus :­

िन󤀎िल甁�खत वा埈�ो ंकी पूित਀ उपयुఀ मुहावरे से कीिजए­

“गाँव वालो ंके ᘀĀो ंके आगे नए अफसर की.................। ”
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(Option ID = 146054 )

बाँछ਀  甁�खल गई

(Option ID = 146055 )

िघᘀी बँध गई

(Option ID = 146056 )

अँगूर खៀे� हो गए

(Option ID = 146057 )

ईट से ईट बज गई

Option ID :­0Correct Answer :­(Option ID = 146055 ) िघᘀी बँध गई 

11)

Question ID :­ (Question ID = 51551 )

Question Description :­ HP12_GENERAL HINDI_SET1Q11

Question Stimulus :­

‘त’ वग਀ के वण埀� का उᤀारण ែ�थान है:

(Option ID = 146066 )

तालĀ

(Option ID = 146067 )

दंៀ�

(Option ID = 146068 )

ओ៮�က

(Option ID = 146069 )

नािसका

Option ID :­0Correct Answer :­(Option ID = 146067 ) दंៀ� 

12)

Question ID :­ (Question ID = 51546 )

Question Description :­ HP12_GENERAL HINDI_SET1Q6

Question Stimulus :­

‘अधर’ का पया਀यवाची शៀ� होगा­

(Option ID = 146046 )
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अि埀�

(Option ID = 146047 )

रदन

(Option ID = 146048 )

हय

(Option ID = 146049 )

अिमय

Option ID :­0Correct Answer :­(Option ID = 146047 ) रदन 

13)

Question ID :­ (Question ID = 51544 )

Question Description :­ HP12_GENERAL HINDI_SET1Q4

Question Stimulus :­

िन󤀎 पं甁�ఀयो ंम਀ छंद का चयन कीिजए­

“ៀ�ी गु៍� चरण सरोज रज, िनज मन मुकुर सुधा눛�र ।

बरनौ ंरघुवर िवमल जस, जो दायक फल चा눛�र ॥“

(Option ID = 146038 )

दोहा

(Option ID = 146039 )

चौपाई

(Option ID = 146040 )

सोरठा

(Option ID = 146041 )

रोला

Option ID :­0Correct Answer :­(Option ID = 146038 ) दोहा 

14)

Question ID :­ (Question ID = 51557 )

Question Description :­ HP12_GENERAL HINDI_SET1Q17

Question Stimulus :­

िन󤀎 म਀ सही वत਀नी का चयन कीिजए­
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(Option ID = 146090 )

िमठायी

(Option ID = 146091 )

िमठाई

(Option ID = 146092 )

िमठई

(Option ID = 146093 )

मीठाई

Option ID :­0Correct Answer :­(Option ID = 146091 ) िमठाई 

15)

Question ID :­ (Question ID = 51556 )

Question Description :­ HP12_GENERAL HINDI_SET1Q16

Question Stimulus :­

वा埈� के अशु埀� भाग का चयन कीिजए­

(Option ID = 146086 )

ᘀाय:सभी िव埀�ालय म਀

(Option ID = 146087 )

भाषण ᘀितयोिगताओ ंका आयोजन

(Option ID = 146088 )

अंतर िव埀�ालयी Āर पर होता है

(Option ID = 146089 )

कोई 埀ु�िट नही ं

Option ID :­0Correct Answer :­(Option ID = 146086 ) ᘀाय:सभी िव埀�ालय म਀ 

16)

Question ID :­ (Question ID = 51549 )

Question Description :­ HP12_GENERAL HINDI_SET1Q9

Question Stimulus :­

रित नामक ែ�थाई भाव िकस रस म਀ पाया जाता है?

(Option ID = 146058 )
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वीर रस

(Option ID = 146059 )

क៍�ण रस

(Option ID = 146060 )

ៀंृ�गार रस

(Option ID = 146061 )

हा� रस

Option ID :­0Correct Answer :­(Option ID = 146060 ) ៀंृ�गार रस 

17)

Question ID :­ (Question ID = 51542 )

Question Description :­ HP12_GENERAL HINDI_SET1Q2

Question Stimulus :­

िन󤀎 शៀ�ो ंम਀ से उपसग਀ रिहत शៀ� कौन सा है?

(Option ID = 146030 )

अगम

(Option ID = 146031 )

अटल

(Option ID = 146032 )

अनिधकार

(Option ID = 146033 )

ᘀथमा

Option ID :­0Correct Answer :­(Option ID = 146033 ) ᘀथमा 

Topic:­ General Maths
1)

Question ID :­ (Question ID = 51767 )

Question Description :­ HP12_GENERAL MATHS_SET4Q6

Question Stimulus :­

A shopkeeper uses a weight of 460 g instead of 500 g and sells the articles at the cost price.
What is the profit percentage?/ एक दुकानदार 500 ៑�ाम के ែ� थान पर 460 ៑�ाम का बॉट उपयोग करता
है और वែ� तुओ ंको उनके ័�य मूퟏ� य पर बेचता है, उसके लाभ का ᘀितशत 큎 या है?

(Option ID = 146930 )
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40%

(Option ID = 146931 )

%

(Option ID = 146932 )

%

(Option ID = 146933 )

20%

Option ID :­0Correct Answer :­(Option ID = 146932 )  % 

2)

Question ID :­ (Question ID = 51778 )

Question Description :­ HP12_GENERAL MATHS_SET4Q17

Question Stimulus :­

The length of a rectangular plot is 20 meters more than its breadth. If the cost of fencing the
plot at ₹26.50 per meter is ₹5300, what is the length of the plot in meters? / एक आयताकर
भूखंड की ल鈎ाई, चौड़ाई से 20 मीटर अिधक है । यिद भूखंड म਀ बाढ़ लगाने की कीमत ₹26.50 ᘀित मीटर की
दर से ₹5300 है, तो भूखंड की ल鈎ाई मीटर म਀ िकतनी है?

(Option ID = 146974 )

60

(Option ID = 146975 )

50

(Option ID = 146976 )

120

(Option ID = 146977 )

Can’t be determine / िनधा਀눛�रत नही ंिकया जा सकता

Option ID :­0Correct Answer :­(Option ID = 146974 ) 60 

3)

Question ID :­ (Question ID = 51774 )

Question Description :­ HP12_GENERAL MATHS_SET4Q13

Question Stimulus :­

Train A took 35 minute to cover a distance of 50 km. If the speed of train B is 25% faster
than train A, it will cover the same distance in:/ टែ� ेन A, 50 िकमी. की दूरी तय करने म਀ 35 िमनट का
समय लेती है, यिद टែ� ेन B की गित, टែ� ेन A की गित से 25% अिधक है, तो इसके ៀ�ारा समान दूरी तय करने म਀
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समय लेती है, यिद टែ� ेन B की गित, टែ� ेन A की गित से 25% अिधक है, तो इसके ៀ�ारा समान दूरी तय करने म਀
िलया गया समय होगा:

(Option ID = 146958 )

25 minute/25 िमनट

(Option ID = 146959 )

28 minute/28 िमनट

(Option ID = 146960 )

30 minute/30 िमनट

(Option ID = 146961 )

36 minute/36 िमनट 

Option ID :­0Correct Answer :­(Option ID = 146959 ) 28 minute/28 िमनट 

4)

Question ID :­ (Question ID = 51764 )

Question Description :­ HP12_GENERAL MATHS_SET4Q3

Question Stimulus :­

What will come in place of Question mark (?) in the following number series? / िन󤀎िल甁�खत
सं埅�ा ᘀणाली म਀ ᘀĀवाचक िच𰀃 (?) के ែ�थान पर 埈�ा आयेगा?

5, (?), 15, 37.5, 112.5

(Option ID = 146918 )

5.5

(Option ID = 146919 )

7.5

(Option ID = 146920 )

9.5

(Option ID = 146921 )

13.5

Option ID :­0Correct Answer :­(Option ID = 146919 ) 7.5 

5)

Question ID :­ (Question ID = 51771 )

Question Description :­ HP12_GENERAL MATHS_SET4Q10

Question Stimulus :­
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Efficiency of Jenelia is 25% more than Jessica and Jessica takes 25 days to complete a
piece of work. Jenelia started a work alone and then Jessica joined her 5 days before actual
completion of the work, for how many days Jenelia worked alone?/ जेनेिलया की काय਀埀�मता
जेिसका से 25% अिधक है और जेिसका एक काय਀ को 25 िदनो म਀ पूरा करती है । जेनेिलया ने अकेले काय਀
ᘀार៻� िकया और काय਀ पूण਀ होने से ठीक पाँच िदन पहले जेिसका उसके साथ शािमल ៏�ई, जेनेिलया ने िकतने
िदनो ंतक अकेले काम िकया?

(Option ID = 146946 )

9 days/9 िदन

(Option ID = 146947 )

11 days/11 िदन

(Option ID = 146948 )

10 days/10 िदन

(Option ID = 146949 )

15 days/15 िदन

Option ID :­0Correct Answer :­(Option ID = 146947 ) 11 days/11 िदन 

6)

Question ID :­ (Question ID = 51776 )

Question Description :­ HP12_GENERAL MATHS_SET4Q15

Question Stimulus :­

One red flag, three white flags and two blue flags are arranged in a line such that:

I. No two adjacent flags are of the same colour.

II. The flags at the two ends of the line are of different colours.

In how many different ways can the flags be arranged?/

एक लाल झंडा, तीन सफेद झंडे और दो नीले झंडे एक पं甁�ఀ म਀ इस ᘀकार ៀ� यव甁�ែ�埗�त ह਀, िक 

I. कोई भी दो िनकटែ� थ झंडे एक रंग के न हो ं।

II. पं甁�ఀ के दोनो ंछोरो ंपर लगे झंडे अलग अलग रंग के हो ं।

झंडो ंको िकतने तरीको ंसे ៀ� यव甁�ែ�थत िकया जा सकता है?

(Option ID = 146966 )

6

(Option ID = 146967 )

4

(Option ID = 146968 )
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10

(Option ID = 146969 )

2

Option ID :­0Correct Answer :­(Option ID = 146966 ) 6 

7)

Question ID :­ (Question ID = 51775 )

Question Description :­ HP12_GENERAL MATHS_SET4Q14

Question Stimulus :­

If the average marks of 4 batches of 45, 55, 65 and 75 students is 20, 30, 40 and 50
respectively, then the average marks of all the student is?/यिद 45, 55, 65 और 75 िव埀�ािथ਀यो ंवाले
4 समूहो ंके औसत अंक ័�मशः 20, 30, 40 और 50 ह਀, तो सभी िव埀�ािथ਀यो ंके औसत अंक ह਀:

(Option ID = 146962 )

35.75

(Option ID = 146963 )

37.08

(Option ID = 146964 )

39.05

(Option ID = 146965 )

41.57

Option ID :­0Correct Answer :­(Option ID = 146963 ) 37.08 

8)

Question ID :­ (Question ID = 51768 )

Question Description :­ HP12_GENERAL MATHS_SET4Q7

Question Stimulus :­

An amount becomes ₹3795 in 3 years and ₹4537.50 in 7  years on simple interest. Find the

rate of interest per annum. / कोई रािश साधारण 埢�ाज पर 3 वष埀� म਀ ₹3795 तथा 7  वष埀� म਀ ₹4537.50 हो
जाती है । 埢�ाज की वािष਀क दर ៀ�ात कीिजए ।

(Option ID = 146934 )

6%

(Option ID = 146935 )

4%
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(Option ID = 146936 )

4.5%

(Option ID = 146937 )

5%

Option ID :­0Correct Answer :­(Option ID = 146937 ) 5% 

9)

Question ID :­ (Question ID = 51770 )

Question Description :­ HP12_GENERAL MATHS_SET4Q9

Question Stimulus :­

A solutions of salt and water contains 20% salt by weight, out of it 20 kg water evaporates and the solution now
contains 25% of the salt. The original quantity of solution was:/जल और नमक के एक िवलयन म਀ भार का 20% नमक है,
इसम਀ से 20 िक៑�ा पानी का वाĀीकरण करने पर ᘀा𳀃 िवलयन म਀ 25% नमक है। तो िवलयन की वाĀिवक मा埀�ा थी:

(Option ID = 146942 )

100 kg/100 िक៑�ा

(Option ID = 146943 )

110 kg/110 िक៑�ा

(Option ID = 146944 )

115 kg/115 िक៑�ा

(Option ID = 146945 )

120 kg/120 िक៑�ा

Option ID :­0Correct Answer :­(Option ID = 146942 ) 100 kg/100 िक៑�ा 

10)

Question ID :­ (Question ID = 51762 )

Question Description :­ HP12_GENERAL MATHS_SET4Q1

Question Stimulus :­

 is equal to:/   के बराबर है:

(Option ID = 146910 )

0.75

(Option ID = 146911 )

1.5
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(Option ID = 146912 )

15

(Option ID = 146913 )

0.15

Option ID :­0Correct Answer :­(Option ID = 146911 ) 1.5 

11)

Question ID :­ (Question ID = 51773 )

Question Description :­ HP12_GENERAL MATHS_SET4Q12

Question Stimulus :­

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in   hours will
be covered by A in _____. / A, B से दोगुना तेज़ चलता है और B, C से तीन गुना तेज़ चलता है । C के

ៀ�ारा   घंटे म਀ तय की गई दूरी A के ៀ�ारा_____ म਀ तय होगी ।

(Option ID = 146954 )

5 minutes / 5 िमनट

(Option ID = 146955 )

15 minutes / 15 िमनट

(Option ID = 146956 )

1 hour / 1 घंटा

(Option ID = 146957 )

1.5 hours /1.5 घंटा

Option ID :­0Correct Answer :­(Option ID = 146954 ) 5 minutes / 5 िमनट 

12)

Question ID :­ (Question ID = 51772 )

Question Description :­ HP12_GENERAL MATHS_SET4Q11

Question Stimulus :­

Two pipes A and B can fill a cistern in 6 and 8 minutes respectively. If A starts the work and they be turned
on alternatively for one minute each, how long will it take to fill the cistern?/ दो नल A और B एक पा埀� को ័�मश: 6
और 8 िमनट म਀ भर सकते ह਀ । यिद A काय਀ ᘀार៻� करता है और वे एक­एक िमनट के िलये बारी­बारी से खोले जाते ह਀, तो पा埀� को भरने
म਀ िकतना समय लगेगा?

(Option ID = 146950 )

3  minutes/3  िमनट
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(Option ID = 146951 )

6 minutes/6 िमनट

(Option ID = 146952 )

6  minutes/6  िमनट

(Option ID = 146953 )

6  minutes/6  िमनट

Option ID :­0Correct Answer :­(Option ID = 146952 ) 6  minutes/6  िमनट 

13)

Question ID :­ (Question ID = 51766 )

Question Description :­ HP12_GENERAL MATHS_SET4Q5

Question Stimulus :­

If M% of x is y and N% of y is x, then:/ यिद x का M%, y है और y का N%, x है तब­

(Option ID = 146926 )

M + N = 100

(Option ID = 146927 )

MN = 10000

(Option ID = 146928 )

(Option ID = 146929 )

Option ID :­0Correct Answer :­(Option ID = 146927 ) MN = 10000 

14)

Question ID :­ (Question ID = 51763 )

Question Description :­ HP12_GENERAL MATHS_SET4Q2

Question Stimulus :­

What should come in place of the question mark (?) in the following questions?/िन󤀎िल甁�खत
ᘀĀ म਀ ᘀĀवाचक िच𰀃 (?) के ែ�थान पर 埈�ा आयेगा?

453 × 33 ­ 15552 =?
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(Option ID = 146914 )

42350

(Option ID = 146915 )

43250

(Option ID = 146916 )

45320 

(Option ID = 146917 )

45230

Option ID :­0Correct Answer :­(Option ID = 146914 ) 42350 

15)

Question ID :­ (Question ID = 51777 )

Question Description :­ HP12_GENERAL MATHS_SET4Q16

Question Stimulus :­

The price of a pen, a book and a shirt are ₹56, ₹72, and ₹120 respectively. How much
minimum money should a person take with him so he can purchase either of articles in
natural numbers and saves ₹20. /एक पेन, एक िकताब और एक कमीज़ की कीमत ័�मशः ₹56, ₹72
और ₹120 है । एक Ā甁�ఀ को 舂ूनतम िकतनी रािश लेकर जाना चािहये तािक वह इनम਀ से िकसी भी वĀु को
ᘀाकृत सं埅�ा म਀ खरीद सके और ₹20 की बचत कर सके ।

(Option ID = 146970 )

₹2540

(Option ID = 146971 )

₹2680

(Option ID = 146972 )

₹2860 

(Option ID = 146973 )

₹2900

Option ID :­0Correct Answer :­(Option ID = 146970 ) ₹2540 

16)

Question ID :­ (Question ID = 51765 )

Question Description :­ HP12_GENERAL MATHS_SET4Q4

Question Stimulus :­

Find the wrong term in the given series: / दी ៏�ई ៀे�णी म਀ गलत पद ៀ�ात कर਀ :
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157.5, 45, 15, 6, 3, 2, 1

(Option ID = 146922 )

1

(Option ID = 146923 )

2

(Option ID = 146924 )

6

(Option ID = 146925 )

157.5

Option ID :­0Correct Answer :­(Option ID = 146922 ) 1 

17)

Question ID :­ (Question ID = 51769 )

Question Description :­ HP12_GENERAL MATHS_SET4Q8

Question Stimulus :­

The ages of Ram and Shyam are in the ratio 2 : 1. After five years, the ratio of their ages will
be 3 : 2. Their present ages respectively are:/ राम और ؀ाम की वत਀मान आयु का अनुपात 2 : 1 है ।
पांच वष਀ पĀात उनकी आयु का अनुपात 3 : 2 हो जाएगा । उनकी वत਀मान आयु ័�मशः ह਀:

(Option ID = 146938 )

20 years and 10 years / 20 वष਀ और 10 वष਀

(Option ID = 146939 )

10 years and 5 years / 10 वष਀ और 5 वष਀

(Option ID = 146940 )

15 years and 5 years / 15 वष਀ और 5 वष਀

(Option ID = 146941 )

40 years and 20 years / 40 वष਀ और 20 वष਀

Option ID :­0Correct Answer :­(Option ID = 146939 ) 10 years and 5 years / 10 वष਀ और 5 वष਀ 

Topic:­ General Computer
1)

Question ID :­ (Question ID = 51803 )

Question Description :­ HP12_COMPUTER_SET1Q8

Question Stimulus :­
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Convert the binary number 1011010 to hexadecimal./ बाइनरी सं埅�ा 1011010 को हेៀ�ाडेसीमल म਀
प눛�रवित਀त कर਀  ।

(Option ID = 147074 )

5F

(Option ID = 147075 )

5A

(Option ID = 147076 )

5B

(Option ID = 147077 )

5C

Option ID :­0Correct Answer :­(Option ID = 147075 ) 5A 

2)

Question ID :­ (Question ID = 51809 )

Question Description :­ HP12_COMPUTER_SET1Q14

Question Stimulus :­

The Internet was originally a project of which agency?/इ�रनेट वाĀव म਀ िकस एज਀सी का ᘀोजेퟀ�
था?

(Option ID = 147098 )

A.R.P.A./ ए.आर.पी.ए.

(Option ID = 147099 )

N.S.F./ एन.एस.एफ.

(Option ID = 147100 )

N.S.A./ एन.एस.ए.

(Option ID = 147101 )

None of the above/ उपरोఀ म਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 147098 ) A.R.P.A./ ए.आर.पी.ए. 

3)

Question ID :­ (Question ID = 51797 )

Question Description :­ HP12_COMPUTER_SET1Q2

Question Stimulus :­

Which one of these stores more data than a DVD?/इनम਀ से कौन डीवीडी की तुलना म਀ ퟟ�ादा डाटा
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Which one of these stores more data than a DVD?/इनम਀ से कौन डीवीडी की तुलना म਀ ퟟ�ादा डाटा
सं៑�ह करता है?

(Option ID = 147050 )

CD­ROM/ सीडी­रोम

(Option ID = 147051 )

Floppy Disk/ ៀ�ॉपी िड�

(Option ID = 147052 )

Blue Ray Disk/ 韂ू� रे िड�

(Option ID = 147053 )

Red Ray Disk/ रेड रे िड�

Option ID :­0Correct Answer :­(Option ID = 147052 ) Blue Ray Disk/ 韂ू� रे िड� 

4)

Question ID :­ (Question ID = 51806 )

Question Description :­ HP12_COMPUTER_SET1Q11

Question Stimulus :­

Which of the following is a secondary memory device?/िन󤀎 म਀ से कौन सेकंडरी मेमोरी िडवाइस
है?

(Option ID = 147086 )

Keyboard/ कीबोड਀

(Option ID = 147087 )

Disk/ िड�

(Option ID = 147088 )

A.L.U./ ए. एल . यू .

(Option ID = 147089 )

All of the above/ उपरोఀ सभी

Option ID :­0Correct Answer :­(Option ID = 147087 ) Disk/ िड� 

5)

Question ID :­ (Question ID = 51799 )

Question Description :­ HP12_COMPUTER_SET1Q4

Question Stimulus :­

SQL stands for: /एस埈ू�एल कहलाता है:
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SQL stands for: /एस埈ू�एल कहलाता है:

(Option ID = 147058 )

Structured Query Language/េ�ែ�ៀ�ड਀ ∀ेरी ल਀ៀे�ज

(Option ID = 147059 )

Sequential Query Language/सेक़ुए甁��अल ∀ेरी ल਀ៀे�ज

(Option ID = 147060 )

Structured Question Language/េ�ែ�ៀ�ड਀ ∀ेĀन ल਀ៀे�ज

(Option ID = 147061 )

Sequential Question Language/सेक़ुए甁��अल ∀ेĀन ल਀ៀे�ज

Option ID :­0Correct Answer :­(Option ID = 147058 ) Structured Query Language/េ�ែ�ៀ�ड਀ ∀ेरी
ल਀ៀे�ज 

6)

Question ID :­ (Question ID = 51807 )

Question Description :­ HP12_COMPUTER_SET1Q12

Question Stimulus :­

The Operating System Manages / ऑपरेिटंग िसេ�म िनयंि埀�त करता है­

(Option ID = 147090 )

Processes/ ᘀोसेसेज

(Option ID = 147091 )

Memory/ मेमोरी

(Option ID = 147092 )

Disks and Input/Output devices/ िड� और इनपुट/आउटपुट िडवाइसेस

(Option ID = 147093 )

All of the above/ उपरोఀ सभी

Option ID :­0Correct Answer :­(Option ID = 147093 ) All of the above/ उपरोఀ सभी 

7)

Question ID :­ (Question ID = 51808 )

Question Description :­ HP12_COMPUTER_SET1Q13

Question Stimulus :­

Which is a search engine/िन󤀎 म਀ से कौन एक सच਀ इंजन है­
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(Option ID = 147094 )

Flash/ ៀ�लैश

(Option ID = 147095 )

Google/ गूगल

(Option ID = 147096 )

Internet explorer/ इ�रनेट एៀ�񀠄ोरर

(Option ID = 147097 )

Firefox/ फायर फॉៀ�

Option ID :­0Correct Answer :­(Option ID = 147095 ) Google/ गूगल 

8)

Question ID :­ (Question ID = 51800 )

Question Description :­ HP12_COMPUTER_SET1Q5

Question Stimulus :­

In which of these topology there is a central controller or hub?/इनम਀ से िकस टोपोलॉजी म਀ स਀टែ� ल
कंटែ� ोलर अथवा हब होता है?

(Option ID = 147062 )

Star/ េ�ार

(Option ID = 147063 )

Mesh/मेश

(Option ID = 147064 )

Ring/ 눛�रंग

(Option ID = 147065 )

Bus/ बस

Option ID :­0Correct Answer :­(Option ID = 147062 ) Star/ េ�ार 

9)

Question ID :­ (Question ID = 51805 )

Question Description :­ HP12_COMPUTER_SET1Q10

Question Stimulus :­

The benefit of using a firewall for LAN is/ LAN म਀ फ़ायरवॉल का उपयोग करने पर होने वाला लाभ है:

(Option ID = 147082 )

It provides greater security to LAN/यह लेन को सुर埀�ा ᘀदान करता है
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It provides greater security to LAN/यह लेन को सुर埀�ा ᘀदान करता है

(Option ID = 147083 )

It provide stricter access control to critical resources/यह अनजान Ѐोत पर िनयं埀�ण ᘀदान
करता है

(Option ID = 147084 )

Both the above/ उपरोఀ दोनो ं

(Option ID = 147085 )

None of the above/ उपरोఀ म਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 147084 ) Both the above/ उपरोఀ दोनो ं

10)

Question ID :­ (Question ID = 51796 )

Question Description :­ HP12_COMPUTER_SET1Q1

Question Stimulus :­

What we need in an inkjet printer?/इंकजेट िᘀंटर म਀ 埈�ा आवयĀ होता है ?

(Option ID = 147046 )

A cartridge/काट਀रेज

(Option ID = 147047 )

A drum/डែ� म

(Option ID = 147048 )

A ribbon/눛�रबन

(Option ID = 147049 )

None of the above/उपरोఀ म਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 147046 ) A cartridge/काट਀रेज 

11)

Question ID :­ (Question ID = 51802 )

Question Description :­ HP12_COMPUTER_SET1Q7

Question Stimulus :­

One byte represents a group of?/ एक बाइट िन󤀎 म਀ से िकस समूह को ᘀदिश਀त करता है?

(Option ID = 147070 )

20 bits/20 िबट्स
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(Option ID = 147071 )

2 bits/2 िबट्स

(Option ID = 147072 )

40 bits/40 िबट्स

(Option ID = 147073 )

8 bits/8 िबट्स

Option ID :­0Correct Answer :­(Option ID = 147073 ) 8 bits/8 िबट्स 

12)

Question ID :­ (Question ID = 51798 )

Question Description :­ HP12_COMPUTER_SET1Q3

Question Stimulus :­

Which of the following item is not an advantage of DBMS?/िन󤀎 म਀ से कौन­सा एक डी.बी.एम.एस.
का लाभ नही ंहै ?

(Option ID = 147054 )

Improved ability to enforce standards / मानक लागू करने के िलए 埀�मता म਀ वृ甁�埀� करना

(Option ID = 147055 )

Improved data consistency/ डाटा सगमता म਀ वृ甁�埀�

(Option ID = 147056 )

Local control over the data/ डाटा पर ែ�थानीय िनयं埀�ण करना

(Option ID = 147057 )

Minimal data redundancy/ अित눛�रఀ डाटा कम करना

Option ID :­0Correct Answer :­(Option ID = 147056 ) Local control over the data/ डाटा पर ែ�थानीय
िनयं埀�ण करना 

13)

Question ID :­ (Question ID = 51804 )

Question Description :­ HP12_COMPUTER_SET1Q9

Question Stimulus :­

The virus that spread in application software is called as:/ ए񀠄ीकेशन सॉ񅠄वेर म਀ फैलने वाला
वायरस कहलाता है:

(Option ID = 147078 )

Boot virus/ बूट वायरस
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(Option ID = 147079 )

Macro virus/ मै័�ो वायरस

(Option ID = 147080 )

File virus/ फाइल वाइरस

(Option ID = 147081 )

Anti­virus/ एंटी वाइरस

Option ID :­0Correct Answer :­(Option ID = 147079 ) Macro virus/ मै័�ो वायरस 

14)

Question ID :­ (Question ID = 51801 )

Question Description :­ HP12_COMPUTER_SET1Q6

Question Stimulus :­

Which transmission used by Modems./ मोडेम ៀ�ारा िकस टែ� ांसिमशन का उपयोग िकया जाता है?

(Option ID = 147066 )

Synchronous/ िसं័�ोनस

(Option ID = 147067 )

Asynchronous/ अिसं័�ोनस

(Option ID = 147068 )

timed interval/ टाइ퟾�ड इंटरवल

(Option ID = 147069 )

Ata/एटा

Option ID :­0Correct Answer :­(Option ID = 147067 ) Asynchronous/ अिसं័�ोनस 

15)

Question ID :­ (Question ID = 51810 )

Question Description :­ HP12_COMPUTER_SET1Q15

Question Stimulus :­

What is full form of VIRUS?/ वायरस का पूरा नाम है­

(Option ID = 147102 )

Vitalise Information Resources Under Siege/ वाइटलाईस इ塘�ॉमퟁ�शन 눛�रसोस਀स अंडर सीज

(Option ID = 147103 )
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Vital Informational Resources Under Siege/ वाइटल इ塘�ॉमퟁ�शनल 눛�रसोसퟁ�ज अंडर सीज

(Option ID = 147104 )

Vital Information Resources Under Siege/ वाइटल इनफामퟁ�शन 눛�रसोसퟁ�ज अंडर सीज

(Option ID = 147105 )

Vital Information Resources Undead Siege वाइटल इनफामퟁ�शन 눛�रसोसퟁ�ज अंडेड सीज

Option ID :­0Correct Answer :­(Option ID = 147104 ) Vital Information Resources Under Siege/
वाइटल इनफामퟁ�शन 눛�रसोसퟁ�ज अंडर सीज 

Topic:­ General Aptitude
1)

Question ID :­ (Question ID = 51915 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q11

Question Stimulus :­

One morning after sunrise, Sunil was standing facing a pole. The shadow of the pole fell
exactly to his right, which direction was he facing?/एक सुबह सूय਀दय के पĀात, सुनील एक ख鈎े
की ओर मुख करके खड़ा था । ख鈎े की परछाई ंउसके ठीक दाई ंओर बनती है, वह िकस िदशा की ओर मुख
िकये ៏�ए था ।

(Option ID = 147522 )

East/पूव਀

(Option ID = 147523 )

South/दि埀�ण

(Option ID = 147524 )

West/पिĀम

(Option ID = 147525 )

Data Inadequate/ ऑंकड़े अपा਀ែ� त

Option ID :­0Correct Answer :­(Option ID = 147523 ) South/दि埀�ण 

2)

Question ID :­ (Question ID = 51906 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q2

Question Stimulus :­

CANCELLED

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./िनदퟁ�श: नीचे िदए गए ᘀ埡� न म਀ कुछ कथन और उसके बाद कुछ िन៮� कष਀ िदए
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from the given statements./िनदퟁ�श: नीचे िदए गए ᘀ埡� न म਀ कुछ कथन और उसके बाद कुछ िन៮� कष਀ िदए
 गए ह਀ । आपको िदए गए तीनो ंकथनो ंको सៀ� य मानना है भले ही वे सव਀ៀ�ात त埗� यो ंसे िभꁓ न ᘀतीत होते हो ं।
सभी िन៮� कष埀� को पिढ़ए िफर तय कीिजए िक िदए गए िन៮� कष埀� म਀ से कौन सा तक਀ संगत ៍�प से अनुसरण करता
है, चाहे सव਀ៀ�ात त埗� य कुछ भी हो ं।

Statements:/कथन:

No stick is door./कोई छड़ी, दरवाजा नही ंहै ।

All doors are pens./सभी दरवाजे, पेन नही ंह਀ ।

Some pens are houses./कुछ पेन, घर ह਀ ।

Conclusions:/िन៮� कष਀:

I. No stick is house./कोई छड़ी, घर नही ंहै ।

II. Some pens are doors./कुछ पेन, दरवाजे ह਀ ।

(Option ID = 147486 )

If only Conclusion I follows/यिद केवल िन៮� कष਀ I अनुसरण करता है

(Option ID = 147487 )

If only Conclusion II follows/यिद केवल िन៮� कष਀ II अनुसरण करता है

(Option ID = 147488 )

If neither Conclusion I nor II follows/यिद न िन៮� कष਀ I न II अनुसरण करता है

(Option ID = 147489 )

If both Conclusions I and II follow/यिद दोनो ंिन៮� कष਀ अनुसरण करते ह਀

Option ID :­0Correct Answer :­(Option ID = 147487 ) If only Conclusion II follows/यिद केवल
िन៮� कष਀ II अनुसरण करता है 

3)

Question ID :­ (Question ID = 51914 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q10

Question Stimulus :­

Ram starts from a point A and walks 6 km North, then turns left and walks 8 km. Then turns
left and walk 12 km up to the point B. In which direction Ram is facing now?/राम एक िबंदु A से
ᘀार៻� करता है और 6 िकमी उៀ�र की ओर चलता है, िफर बाएँ मुड़ता है और 8 िकमी चलता है । िफर बाएँ
मुड़ता है और िबंदु B तक 12 िकमी चलता है । अब राम का मुख िकस िदशा की ओर है?

(Option ID = 147518 )

North/उៀ� तर

(Option ID = 147519 )
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South/दि埀�ण

(Option ID = 147520 )

East/पूव਀

(Option ID = 147521 )

West/पिĀम

Option ID :­0Correct Answer :­(Option ID = 147519 ) South/दि埀�ण 

4)

Question ID :­ (Question ID = 51911 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q7

Question Stimulus :­

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four
options that is similar to the given set. /िनदퟁ�श: िदए गए ᘀៀ� येक ᘀ埡� न म਀ चार िवकퟏ� पो ंम਀ से एक
संេ� याओ ंके समूह का चयन कर਀  जो िदए गए समूह के समान हो ।

(6, 13, 22)

(Option ID = 147506 )

(6, 13, 27)

(Option ID = 147507 )

(10, 16, 28)

(Option ID = 147508 )

(11, 18, 27)

(Option ID = 147509 )

(13, 19, 22)

Option ID :­0Correct Answer :­(Option ID = 147508 ) (11, 18, 27) 

5)

Question ID :­ (Question ID = 51910 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q6

Question Stimulus :­

In a certain code language, 'ORIENTAL' is written as 'MBUOFJSP'. How is 'COWARDLY'
written in that code language?/ िकसी िनिĀत कूट भाषा म਀ 'ORIENTAL' को 'MBUOFJSP' को िलखा
जाता है। उसी कूटभाषा म਀ 'COWARDLY' को िकस ᘀकार िलख਀गे?

(Option ID = 147502 )

ZMESDPXB
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(Option ID = 147503 )

XKCQBXPD

(Option ID = 147504 )

ZMESDXBP

(Option ID = 147505 )

ZMESBXPD

Option ID :­0Correct Answer :­(Option ID = 147505 ) ZMESBXPD 

6)

Question ID :­ (Question ID = 51917 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q13

Question Stimulus :­

If 26th January 2011 was Wednesday, then what day of the week was it on 26th January 2012? यिद
26th जनवरी 2011 को बुधवार था, तो स𳀃ाह का कौन सा िदन 26th जनवरी 2012 को था?

(Option ID = 147530 )

Monday/सोमवार

(Option ID = 147531 )

Tuesday/मंगलवार

(Option ID = 147532 )

Wednesday/बुधवार

(Option ID = 147533 )

Thursday/ गु៍�वार

Option ID :­0Correct Answer :­(Option ID = 147533 ) Thursday/ गु៍�वार 

7)

Question ID :­ (Question ID = 51920 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q16

Question Stimulus :­

DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options./िनदퟁ�श: नीचे िदए गए ᘀĀ म਀, कथनो ंम਀ कुछ
अवयवो ंके बीच म਀ स鈎 दशा਀ए गए ह਀ । कथनो ंके बाद िनĀष਀ िदए गए ह਀ । कथनो ंपर आधा눛�रत िनĀष埀� को 韀�ानपूव਀क पिढ़ए
और िदये गये म਀ से एक िनिĀत उៀ�र का चयन कीिजए ।

Statements:/कथन:

N = Z, C ≥  G, G ≥  N, N ≥ R, J ≥  C
Conclusions:/िनĀष਀:
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Conclusions:/िनĀष਀:

I.   G ≥ Z

II.  C ≥ R

(Option ID = 147542 )

If only Conclusion I follows/यिद केवल िनĀष਀ I अनुसरण करता है

(Option ID = 147543 )

If only Conclusion II follows/यिद केवल िनĀष਀ II अनुसरण करता है

(Option ID = 147544 )

If either Conclusion I or II follows/यिद या तो िनĀष਀ I या II अनुसरण करता है

(Option ID = 147545 )

If both Conclusions I and II follow/यिद दोनो ंिनĀष਀ अनुसरण करते ह਀

Option ID :­0Correct Answer :­(Option ID = 147545 ) If both Conclusions I and II follow/यिद
दोनो ंिनĀष਀ अनुसरण करते ह਀ 

8)

Question ID :­ (Question ID = 51919 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q15

Question Stimulus :­

A cube of edge 4 cm is painted on all its face and is then cut into smaller cubes of volume 1
cm3. How many smaller cubes painted from one face only?/एक 4 सेमी भुजा वाले घन के सभी
फलको ंको रंगा गया और िफर उसे 1 सेमी3 के छोटे घनो ंम਀ काट िदया गया है । िकतने छोटे घनो ंका केवल
एक फलक रंगीन होगा?

(Option ID = 147538 )

12

(Option ID = 147539 )

24

(Option ID = 147540 )

16

(Option ID = 147541 )

32

Option ID :­0Correct Answer :­(Option ID = 147539 ) 24 

9)

Question ID :­ (Question ID = 51909 )
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Question Description :­ HP12_GENERAL APTITUDE_SET3Q5

Question Stimulus :­

How many rectangles are there in the following figure?/ िन퟾� न आकृित म਀ िकतने आयत ह਀?

(Option ID = 147498 )

10

(Option ID = 147499 )

11

(Option ID = 147500 )

12

(Option ID = 147501 )

13

Option ID :­0Correct Answer :­(Option ID = 147499 ) 11 

10)

Question ID :­ (Question ID = 51912 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q8

Question Stimulus :­

Pointing towards a lady in a Polaroid, Victor said, “She is the daughter of the father of the
sister of my brother”. How is the lady in photograph related to Victor?/एक पोला눛�रक म਀ एक
मिहला की तरफ इशारा करते ៏�ए, िव큎 टर कहता है,“यह मेरे भाई की बहन के िपता की बेटी है”। तែ� वीर म਀
उप甁�ែ�थत लड़की िव큎 टर से िकस ᘀकार संबंिधत है?

(Option ID = 147510 )

Daughter/बेटी 

(Option ID = 147511 )

Wife /प᠀ी 

(Option ID = 147512 )

Mother/माँ 

(Option ID = 147513 )

None of these/इनम਀ से कोई नही ं

Option ID :­0Correct Answer :­(Option ID = 147513 ) None of these/इनम਀ से कोई नही ं 
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Option ID :­0Correct Answer :­(Option ID = 147513 ) None of these/इनम਀ से कोई नही ं 

11)

Question ID :­ (Question ID = 51907 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q3

Question Stimulus :­

What will come in place of question (?) mark in the following series?/िन퟾� न ៀे�णी म਀ ᘀ埡� नवाचक िचꁓ ह (?) के
ែ� थान पर 큎 या आएगा?

BZA, DYC, FXE, (?), JVI

(Option ID = 147490 )

HUG

(Option ID = 147491 )

HWG

(Option ID = 147492 )

UHG

(Option ID = 147493 )

WHG

Option ID :­0Correct Answer :­(Option ID = 147491 ) HWG 

12)

Question ID :­ (Question ID = 51913 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q9

Question Stimulus :­

DIRECTIONS: Arrange the following words according to the English Dictionary./िनदퟁ�श: अं៑े�जी
श埸� दकोश के अनुसार, िन퟾� न श埸� दो ंको ៀ� यव甁�ែ�थत कर਀ :

a. Apple b. Appreciate c. Apply d. Application e. Apartment

(Option ID = 147514 )

e, a, b, d, c

(Option ID = 147515 )

e, c, a, b, d

(Option ID = 147516 )

e, a, c, d, b

(Option ID = 147517 )
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e, a, d, c, b 

Option ID :­0Correct Answer :­(Option ID = 147517 ) e, a, d, c, b  

13)

Question ID :­ (Question ID = 51918 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q14

Question Stimulus :­

In a row of children, Deepti is ninth from the left and Kashish is thirteenth from right. They
exchange their positions and then Deepti  becomes seventeenth from the left. Find the new
position of Kashish from the right end of the row?/ब毐� चो ंकी एक पं甁�ఀ म਀, दीែ� ती, बांए से नौवे ែ� थान
पर है और किशश, दांए से तेहरवे ែ� थान पर है । वे अपने ែ� थान आपस म਀ बदल लेते ह਀ और िफर दीែ� ती, बांए से
स埀�हवे ែ�थान पर आ जाती है, किशश का नया ែ� थान दांए से ៀ�ात कर਀  ।

(Option ID = 147534 )

20th/20वाँ

(Option ID = 147535 )

21st/21वाँ

(Option ID = 147536 )

27th/27वाँ

(Option ID = 147537 )

28th/28वाँ

Option ID :­0Correct Answer :­(Option ID = 147535 ) 21st/21वाँ 

14)

Question ID :­ (Question ID = 51908 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q4

Question Stimulus :­

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is
given which has some blanks, find the alternatives that complete the series./िनदퟁ�श :िन퟾� न
अ埀�र ៀे�णी म਀, कुछ अ埀�र लुែ� त है जो नीचे िदए गए िकसी एक िवकퟏ� प के ័�म म਀ ह਀ । सही िवकퟏ� प का चयन
कर਀  ।

­ca­c­bc­b­a

(Option ID = 147494 )

abcba

(Option ID = 147495 )

bbaac
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(Option ID = 147496 )

ccbab

(Option ID = 147497 )

cbaca

Option ID :­0Correct Answer :­(Option ID = 147495 ) bbaac 

15)

Question ID :­ (Question ID = 51905 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q1

Question Stimulus :­

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)
from the given statements./िनदퟁ�श: नीचे िदए गए ᘀ埡� न म਀ कुछ कथन और उसके बाद कुछ िन៮� कष਀ िदए
 गए ह਀ । आपको िदए गए तीनो ंकथनो ंको सៀ� य मानना है भले ही वे सव਀ៀ�ात त埗� यो ंसे िभꁓ न ᘀतीत होते हो ं।
सभी िन៮� कष埀� को पिढ़ए िफर तय कीिजए िक िदए गए िन៮� कष埀� म਀ से कौन सा तक਀ संगत ៍�प से अनुसरण करता
है, चाहे सव਀ៀ�ात त埗� य कुछ भी हो ं।

Statements:/ कथन:

Some tables are ears./ कुछ मेज, कान ह਀ ।

All ears are spoons./सभी कान, च퟾� मच ह਀ ।

Some spoons are glasses./कुछ च퟾� मच, िगलास ह਀ ।

Conclusions:/िन៮� कष਀:

I. Some glasses are tables./कुछ िगलास, मेज ह਀ ।

II. Some glasses are ears./कुछ िगलास, कान ह਀ ।

(Option ID = 147482 )

If only Conclusion I follows/यिद केवल िन៮� कष਀ I अनुसरण करता है

(Option ID = 147483 )

If only Conclusion II follows/यिद केवल िन៮� कष਀ II अनुसरण करता है

(Option ID = 147484 )

If neither Conclusion I nor II follows/यिद न िन៮� कष਀ I न II अनुसरण करता है

(Option ID = 147485 )

If both Conclusions I and II follow/यिद दोनो ंिन៮� कष਀ अनुसरण करते ह਀
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Option ID :­0Correct Answer :­(Option ID = 147484 ) If neither Conclusion I nor II follows/यिद न
िन៮� कष਀ I न II अनुसरण करता है 

16)

Question ID :­ (Question ID = 51916 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q12

Question Stimulus :­

At what time between 7’O clock and 8’ O clock will the hand of the clock be together?/ 7 बजे
से 8 बजे के म韀� घड़ी की सुईयाँ िकस समय एक साथ होगंी?

(Option ID = 147526 )

38  minutes past 7/7 बजकर 38  िमनट पर

(Option ID = 147527 )

37  minutes past 7/7 बजकर 37  िमनट पर

(Option ID = 147528 )

28  minutes past 7/7 बजकर 28  िमनट पर

(Option ID = 147529 )

30  minutes past 7/7 बजकर 30  िमनट पर

Option ID :­0Correct Answer :­(Option ID = 147526 ) 38  minutes past 7/7 बजकर 38  िमनट पर 

17)

Question ID :­ (Question ID = 51921 )

Question Description :­ HP12_GENERAL APTITUDE_SET3Q17

Question Stimulus :­

Four kids P, Q, R and S are up on the ladder. P is further up the ladder than Q, Q is between
P and R. If S is further up than P, who is the second from the top?/चार ब毐� चे P, Q, R और S सीढ़ी
पर खड़े ह਀ । P, Q से सीढ़ी पर ऊपर है । Q, P और R के बीच है । यिद S, P के और ऊपर है, ऊपर से दूसरा
कौन है?

(Option ID = 147546 )

Q

(Option ID = 147547 )

P

(Option ID = 147548 )
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R

(Option ID = 147549 )

S

Option ID :­0Correct Answer :­(Option ID = 147547 ) P 
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